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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Q=T 3397 :
i) @ IeT I |
(i) 97 GEI1-5 7% Td% Uk HF & & | 57 Jo1 & I/ Id 20 931 &

314% T & eT |

(iii) ¥99 &I 6 - 10 TF 9% g IH & 8 | 37 Jo9 & I 9% 40 5] &
3fe 781 &4 TeY |

(iv) 397 &7 11 - 16 7% J4% &R 37H] & 3 | 37 J941 & I/ I9% 100 V5] G
314% T &1 MY |

(v) ¥ H&IT 17 - 21 TF J9% Gier HHl & & | 57 941 & IH I9% 150 Jsg]
& 37fe 787 817 @y |

(vi) 97 G&IT 21 TEE | TENRT F97 & | 398 I 3794 FR-Geaahr 7
ferf&T |

(vii) I97 G&IT 22 - 27 T 9% D: hl & & | 57 1 & I] 9% 150 Jeq] &
3% T &7 T |

General Instructions :
(i) All questions are compulsory.

(it)  Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

(iti)) Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

(iv)  Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

(v) Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

(vi)  Question number 21 is a map-based question. Write its answers in your
answer-book.

(vii) Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.

1. orfaum el | @ AU B ? 1
What does ‘ASEAN Way’ stand for ?
2. ‘wug fGdihe’ & 3gud HI Tse Hif | 1

Explain the origin of Congress Syndicate.
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3. % ot i fopm THur I Ar=ETE ¥ YSfiarg 6, THAT h HEE AEW
TIehT T ST TehdT & ? 1

How far can Shock Therapy be called the best way to make the transition
from Communism to Capitalism ?

4. YRA § 1989 ¥ 2014 % eI hl TG hl TLHN 1 T T gl AT & ? 1

Why is the period from 1989 to 2014 called an era of coalition
governments in India ?

5. S JAaIeH! Wl galcaTed 91 el fohdm [T =1 ? 1
Why should popular movements not be discouraged ?
6.  3Tfvae g o foret T TohRIcHs MY JuTa &1 Tuse i | 2

Explain any adverse economic impact of Nuclear Weapons.

7. GEEE oA & ®9 U Uh-cA U], Hifadd ST & (G0 E AN 3R
JTHAN T G FT &1 T3 2 2
Why did the one-party system, represented by the Communist Party,

become a source of dissent and dissatisfaction among the Soviet people ?

8. 39 ITE-UE % &7 h UGV § & % 7T HIg 31 I AT | 2x1=2

Suggest any two measures to protect your surroundings from pollution.
9. YW M AW TAE H W T dTelt WRA i fhegl 9R USHIfae qifedt
oot | 4xé:

Mention any four political parties of India which participated in the first
three general elections.

10. ST o ATk M1 e | Tohd @ &1 ol JAEATYT T =18d & 7 2x1=2

The critics of globalisation want which two areas to be revived
economically ?

11. YW @It I o HATHA & dUF HINT | 4
Describe the events of the ‘First Gulf War’.

12. YR s 9] Hifq & fohdl @ awdi 1 Seor@ i | 2x2=4
State any two elements of India’s Nuclear Policy.

13. L& <hl ATAieh qei SRl STIHeh YRUM3Ti hl ST hiforg | 2+2=4

Explain the internal and external non-traditional notions of security.
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14. gfod Jod o gea foanuRcHs SR (TWe) &I IR HIVT | 9 380 90
% T Hal qoh a%a gY ? 2+2=4

Highlight the larger ideological agenda of the Dalit Panthers. How far
were they successful in achieving it ?

15. 39 9°Y I IR 6 YR W TSI TS AN hi TAHAT Sl =R
fag #ifsT | 4

Justify the constitution of States Reorganisation Commission under the

circumstances prevailing at that time.

16. 7SS4 <hl TN o fohal @l TehNIcHeh YRUMHT shl ISR HIfST | 2x2=4

Highlight any two negative outcomes of the coalition governments.

17. = feu 7u sraauor w1 Fewme KIS qur Fefafad T & S AN . 2+471+42=5

gfeq Tiel Uk herar A1 % &Y 4 IV off 3N I ARNEAr U TH W
off | 39 4R gerTa Ufaeadl el s diEt 3R geid & =efl off | 36 srafy
T rTeenl 3T TR & 9Hl fodt § off 999 W | gea= AR |
HTHT hl g TEARCHAT ohl Glad™ o fawg AMT | i 91l <1 AT o T
JASTAd h1 Ig &1 Alhad o gl 3R d8e hl Tai=dl & foeg 8 | UE 3
g Y off v R oferea U gunfedfaerdl deen § ST U8 el Tl o
AT TEAM AT HeATUI—hHRASHHT ! AT H i T8 § TS IeH W@l 8 | Hidd
& fauer O S g1 9, 3= o @ A1 Foh T WifershR sl et e Are
TEAATA T3 T T@T 8 SR USHITG 88 | STeT S3ReiTd gt off Tl 8 |

() g o &9 W 3feu e S fRa @1 SuafeuEi 3 3W U ek ad
FFesid ar s feam 2

(i) I AT g JHAYTEF hg IH ol fhHl Teh TR 9@ <hl
Yga hIfVT |
(iii) T Bl @™ L|§z-4|-1 Tl 37 HeATURT HIRHHT hl ITTR shit =

hIUE AN AT =mgdl off |
Study the passage given below and answer the questions that follow :

Indira Gandhi had emerged as a towering leader with tremendous
popularity. This was also the period when party competition became
bitter and polarised. This period also witnessed tensions in the
relationship between the government and the judiciary. The Supreme
Court found many initiatives of the government to be violative of the
Constitution. The Congress party took the position that this stand of the
Court was against the principles of democracy and parliamentary
supremacy. The Congress also alleged that the Court was a conservative
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institution and it was becoming an obstacle in the way of implementing
pro-poor welfare programmes. The parties opposed to the Congress felt
that politics was becoming too personalised and that governmental
authority was being converted into personal authority.

1) Which two achievements of Indira Gandhi as the Prime Minister
made her a towering leader with tremendous popularity ?

(ii)) Identify any one initiative of the government which was found
unconstitutional by the Supreme Court.

(iii) Highlight the pro-poor welfare programmes which the Congress
wanted to implement.

18. = feu 7u sraaw = wH ¥ ufeu 3k ffafiga woai & s dfw . 142425

G T ST 9 AUE & @ A .. W g S T |
3THLRT < THHI 1 deh o1 Toh Ig I Feql-d-Foal THTH - qAT AR
3R wreft Ui St M A T FIH Bl Wbl b oI T o9 fiwen J&t o |
fow gg &1 wwifed @1 i @w gan T Afegs wsHifd % v W
eI 1 3¢ & T A fava Y fopelt ot wem o1 wonfeq s <t eqman
Tl of |
i) Tgdw fowe gg % g Afvgs TeHifd o @9 W 3T B dret @

HRTIRAT sl T8 I |
(i) 72 Hemfhal % 3ed B % i i e Hifs |
(i) ¥ wfeat fava § *& oft oo arefl geae i FU ywifdd T Fehd!

off ? ¥ ST |

Read the given passage carefully and answer the following questions :

The United States dropped two atomic bombs on the Japanese
cities of ..... . The supporters of U.S. have argued that the dropping of the
atomic bomb was necessary to end the war quickly and to stop further
loss of American and Allied lives. ..... the consequence of the end of the
Second World War was the rise of two new powers on the global stage
with the ability to influence events anywhere on earth.

(1) Identify the two new powers that rose on the global stage after the
Second World War.

(i1))  Explain the outcome of the emergence of these two new powers.

(i1i)) How could these powers influence events anywhere on earth ?
Explain.
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19. 9 fau sraawm =« 9 ufen v fmfaiaa geai & 3ot dfSe . 1+2+2=5

ANTE o oIt fegea™ o amd fash@ & @ wisa 9 | 9l 3qraTel -gsiaral

Hied o7 | AT & Afehat el 3R Tgw TsF AW § J@! Aied TR

T AT | GEU HATSEE] HISHA o1 | 39 Gifedd €Y A A AT | ... 39 o<k

feged™ | 9gd-8 <M foepre & Hiforrd Aisd § Tl dR 0 g o | U &

H AR HEIME Tl & & T8l dfesh Ao 91él 3R gg Hhidd & 5& ah

A 9 | ST T o YSfiardt foehre o e sgd 7 9 |

(i) T9ad 9Rd % @ faemea ongfes fasm o ¢ Afedl & e 3R
TS HINT |

(i)  9Ra 4 T & forg Afsd I UM R F= A ?

(i)  YSfardl wisa 1 qHeH 9gd & wH WRAE Aareti 4 @@ o ?

Read the given passage carefully and answer the following questions :

On the eve of Independence, India had before it, two models of modern
development : the liberal — capitalist model as in much of Europe and the
U.S. and the socialist model as in the U.S.S.R. There were many in India
then who were deeply impressed by the Soviet model of development.
These included not just the leaders of the Communist Party of India, but
also those of the Socialist Party and leaders like Nehru within the
Congress. There were very few supporters of the American style
capitalist development.

) Differentiate between the two models of modern development
under consideration before independent India.

(ii))  Which model of development did India adopt and why ?
(iii)) Why did very few Indian leaders support the capitalist model ?

20. U MU T w1 srem Hifsre qen fFrafaRad et % 3@ @i 1+2+2=5
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(20.1) = =1 fg@m & fore wmgferat st =i g1 T 2

(20.2) GTEfehat & g Ul # fe@m v fog @ § 2 ¥ fug ®H- @ oo
Tormeamast w1 gfaffca =@ 8 2

(20.3) TE IS FI1 T el & ?

Study the cartoon given below and answer the following questions :

(20.1) Why has the bicycle been chosen to represent China ?

(20.2) What do the symbols within the two wheels stand for ? Which two
economic ideologies do the symbols represent ?

(20.3) What message does the cartoon convey ?

Fig:  [AEET 399 Fad gRaTeaa qagmndar & o, 397 89120 F w9 WE |

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20.

(20.1) I TS THLRT qen = i 31iefes fifq=i o i Fm wose Hfv |
(20.2) 3T g3 < STfAEAT o THNIcH THTET 1 ThHTA HIIT | 2+3=5

(20.1) Differentiate between the economic policy of the U.S. and that of
China.

(20.2) Assess the negative impacts of the rising Chinese economy.
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21. feu U wraE & UsHifas WEwmtE |, g s s @), @), ©, © au

® g ffed foen o 8 | A= @ T STHHE b STUR W el gEE i
3R ITW-YFEdhT H Ik W@ AW, 3Tl HU T&AT a1 TrEf-Ud AeR Higd

fofau - 5x1=5
(i)  JATHT, YR HT 2947 T |

(i) % ST &l HIUH U1 1 AT SAETH 1959 H 83T |

(ii) 98 Us¥ 58 18 Hal™ TUSY <hal SITdl AT ?

(iv) 98 Usd a8 arardt 41 3.0, TH. THelurg o1 avey o |
(v) 909 WRA i JIH e W, THHAN ST R H1 T8 T |
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In the given political outline map of India, five States are marked as
@), B, 0, D and® . Identify them with the help of the information
given below and write their correct names in your answer-book along
with the serial number of the information used and the related alphabet

59/2/2

in the map :

(i)  The 29t State of India, Telangana.

(i1))  The State where Nagpur Session of the Congress Party was held in
1959.

(iii) The State which used to be called the Madras State earlier.

(iv) The State to which the Communist leader E.M.S. Namboodiripad
belonged.

(v)  The home State of Rajkumari Amrit Kaur, the first Health
Minister of free India.
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Fig:  [AEliaa 397 o gIEETad et & oG, 397 G 21 F T |
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) 1960 T T+t foueft gai 3 <o 9T § 1 fieht FwTg oft 2
(21.2) TS I AATT = HIUH Bl BIGhL T TTEH hl TATIAT F1 I 2
(21.3) fo=meT & YR W, 9 99 fohH YR 37 i 4 Fia oft 2 2+2+1=5

(21.1) What role did the opposition parties play in the Lok Sabha up to
1960 ?

(21.2) Why did some Congressmen leave the Congress and form the
Swatantra Party ?

(21.3) How was the Jana Sangh different from other parties in terms of

ideology ?
22, WY G HYHR I Teh fqaTeyed aun god-Ieh Tsd - Tl aTel U 3TTdieh
IO <hl FUH <HIFT | 3+3=6
ST
AR fopem i <t formel 9 @il i g AT | 3k ATGIeH < &
giomg et 2 6

Describe the external and internal reasons that made Jammu & Kashmir
a controversial and conflict-ridden State.

OR

List any four demands of the Bharatiya Kisan Union. What were the

outcomes of their movement ?

23. AYARIUT 4 WA hl HT JHTIT foram § 3T WRA S9eiohlul hl hdl I ST

@1 3 ? ST aohl gRI 3T IR hi gfE i | 6
HAIgAT
“areft gl cifer STemT-sTam sl — 39 Taga w1 39 Ard
gigror Iy | 6
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How has globalistion impacted on India and how is India in turn
impacting on globalisation ? Support your answer with suitable

arguments.

OR

Examine the concept of “Common but differentiated responsibilities” with
the help of examples.

24. 19759 Ugd, HUE THN & favg fotiy vyesiHi & fordl 9 wenl A samea
SHifST | 3x2=6

AT

3 gRfefadl 1 Tawe T, [k 3T=aid 1969 § Tsgdfd i fHated g 2
39 et o aftomm 3 il wrel o1 8 gTfaa fema ? 3+3=6

Explain any three factors that led to protests against the Congress
Government before 1975.

OR

Explain the circumstances under which the Presidential election of 1969
was held. How did the outcome of this election affect the Congress Party ?

25. Hifewd Yomet sht fopral i fomiwanst =1 gofe i | 3x2=6
A oaan
TETRIRRAT bl B < & Y G T3ee" oA & fou fopT afifeufaat 9 e
foram 2 v ifve | 6

Describe any three features of the Soviet system.

OR

What circumstances compelled the super-powers to have military

alliances with smaller countries ? Describe.
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26. “IWOHI %k Y TG H§ IR AT WRA % [T FATEH Teaqui & | F

3T 38 o ¥ TUA ¢ ? T dohi g 3TqH IR hl gfee I | 6
arera

zfeqor uften & 2 & offw onfdes wEAm i U TR G ° @ (Teh) i

ftreht 3T Efmredt 1 gearerd hHIfT | 6

“It is very important for India to improve its relations with the U.S.”. Do
you agree with this statement ? Support your answer with suitable
arguments.

OR

Evaluate the role and limitations of SAARC as a forum for facilitating

economic cooperation among Asian countries.

27. THHCH fIva T T TS Sl SIS TETi & Hgwd ol AThed i | 6
arerat

T, ATdeRdTg 3T TEMIRET S @all 1 Gehleell i & e ura =i fha
YRR I GIAT I TAfHehar ¢l A1ET 2 3194 gorma e | 6

Assess the importance of international organisations like the United
Nations in the contemporary world.

OR

Suggest the type of security India should prefer to fight the threats like
poverty, terrorism and epidemics.
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